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QUESTION 1

Three methods of creating a LUN are:
*lun setup *lun map *FilerView

A. True

B. False

Correct Answer: B

QUESTION 2

Which two commands can be performed with the SnapDrive for Windows graphical user interface? (Choose 2.)
A. Create Disk

B. Create VLD

C. Connect Disk

D. Convert VLD to LUN

Correct Answer: AC

QUESTION 3

Using the output below, a co-worker determined that these are type "Solaris" LUNs. What would your determination
be?

lun show -m

LUH path Mapped to LUN ID
svolsvollslunl solaris-1groupl ]
sgolsvollslunl anlaris-i1groupl 0
syalsvoll sgtresl lun? solaris—-igroup? ]
Awol/woll gtreel-lun3 solaris—igroup3 0

A. These are type "Solaris" LUNSs.

B. These are NFS LUNSs, but the exact OS cannot be determined.

C. Not enough information is given here. Run the lun show-v command to get the information requested.
D. Not enough information is given here. Run the lun map command to get the information requested.

Correct Answer: C

QUESTION 4
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As a best practice for long-term use, a writeable snapshot of a LUN should be turned into a LUN clone.
A. True
B. False

Correct Answer: A

QUESTION 5

Which command adds the share "netapp" to the /vol/vol2/home directory?
A. cifs shares -add netapp /vol/vol2/home

B. cifs shares -add /vol/vol2/home/netapp

C. cifs shares -add netapp /vol/vol2

D. None of the above

Correct Answer: A
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